
SAP ABAP table ECMCT {SAP Cons.: Totals Table}

ECMCT

RCLNT [CLNT (3)]

RLDNR [CHAR (2)]

RRCTY [CHAR (1)]

RVERS [CHAR (3)]

RYEAR [NUMC (4)]

ROBJNR [CHAR (18)]

COBJNR [CHAR (18)]

SOBJNR [CHAR (18)]

RTCUR [CUKY (5)]

RUNIT [UNIT (3)]

DRCRK [CHAR (1)]

RPMAX [NUMC (3)]

RCOMP [CHAR (6)]

RDIMEN [CHAR (2)]

RBUNIT [CHAR (18)]

RITCLG [CHAR (2)]

RITEM [CHAR (10)]

RBUPTR [CHAR (18)]

RCONGR [CHAR (18)]

ROBUKRS [CHAR (4)]

SITYP [CHAR (3)]

SUBIT [CHAR (10)]

DOCTY [CHAR (2)]

COICU [CHAR (18)]

CSPRED [CHAR (4)]

QSPRED [CHAR (4)]

T000

MANDT [CLNT (3)]

 ECMCT-RCLNT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ECMCT-ROBUKRS = T001-BUKRS 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ECMCT-RUNIT = T006-MSEHI 
0..N

1

T821S

MANDT [CLNT (3)]

SPRED [CHAR (4)]

 ECMCT-CSPRED = T821S-SPRED 

0..N

{0,1}

 ECMCT-QSPRED = T821S-SPRED 0..N

{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 ECMCT-RCOMP = T880-RCOMP 
0..N

{0,1}

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]
 ECMCT-RLDNR = T881-RLDNR 0..N

1

T894

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

RVERS [CHAR (3)]
 ECMCT-RVERS = T894-RVERS 0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)] ECMCT-RTCUR = TCURC-WAERS 0..N

1

TF100

MANDT [CLNT (3)]

ITCLG [CHAR (2)]

ITEM [CHAR (10)]

 ECMCT-RITEM = TF100-ITEM 
0..N{0,1}

TF110

MANDT [CLNT (3)]

SITYP [CHAR (3)]

 ECMCT-SITYP = TF110-SITYP 

0..N

{0,1}

TF115

MANDT [CLNT (3)]

SITYP [CHAR (3)]

SITEM [CHAR (10)]

 ECMCT-SUBIT = TF115-SITEM 

0..N

{0,1}

TF120

MANDT [CLNT (3)]

ITCLG [CHAR (2)]

 ECMCT-RITCLG = TF120-ITCLG 

0..N

{0,1}

TF150

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

 ECMCT-RDIMEN = TF150-DIMEN 

0..N

{0,1}

TF160

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

BUNIT [CHAR (18)]

 ECMCT-COICU = TF160-BUNIT 

0..N

{0,1}

 ECMCT-RBUNIT = TF160-BUNIT 

0..N

{0,1}

 ECMCT-RBUPTR = TF160-BUNIT 

0..N

{0,1}

TF180

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

CONGR [CHAR (18)]

 ECMCT-RCONGR = TF180-CONGR 

0..N

{0,1}

TF500

MANDT [CLNT (3)]

DIMEN [CHAR (2)]

DOCTY [CHAR (2)]

 ECMCT-DOCTY = TF500-DOCTY 

0..N

{0,1}


